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A= GLEB=2 SN SIS
H: EA=S o0t DAl AHA
CHRl: AIQID ASSHE &0 33 X4 (CH9: &S1)
A 2A - B . HA(SH) - MIRAIY - BES (1;| Palgely glg% Hlns
201 Lete | 5,000 9,500 24,500
01 Al22t2|H| 5,000 9,500 4,500
Ot 2ted elmgt X X
5,000,000 5,000
202 OiH] 1,200 1,800 AB00
01 2oL 1,200 1,800 2600
Ode 23 21Tz SALP =X 04|
1,200,000 1,200
HUYYHAE= DRIZH XA 97,500 60,000 37,500
308 XIXICHHISOIE 97,500 60,000 37,500
01 MASHBAEERS 97,500 60,000 37,500
Ol NAE= NEKIZ ) X(SR,
AT, o12=32) 97,500,000 97,500
SOOI E S SI ALY 151,350 156,350 25,000
OIS 9N AS HERT 2Y 151,350 156,350 5,000
201 LeE Y| 1,350 6,350 25,000
01 Al22t2|H| 1,350 1,350 0
ORo2 M L HIE 1Y
1,350,000 1,350
308 XXISHSOIA 150,000 150,000
13 SO 2SUHSHE A XA 150,000 150,000
ONI5al QIM=HHSZR JHZE
150,000,000 150,000
SIS ey & X 14,068,740 13,532,722 536,018
= 270,000
= 4,314,000
Al 9,484,740
& XS WsHo =X 12,750,240 13,532,722 NT82,482
= 270,000
= 3,435,000
Al 9,045,240
OAUA 22X 84,240 79,780 4,460
201 Lete | 84,240 73,680 10,560
2 Z229Y| 84,240 73,680 10,560
OFAAIAEN SAIF|IHIH(ADSL) AFR2
18,000,0002 18,000
OQIMAIZI (N SAUXR ZEIAAH 2
pNIES 36,240,0002! 36,240
O# XS F0 oS 2AXA HEIAIAE
SONL=ES 30,000,000&! 30,000
Ol 22X (XHAI) 6,358,500 6,418,000 A59,500
308 RIXISHHISOIE 6,358,500 6,418,000 A59,500
01 AIXSHHBNEZZ 6,358,500 6,418,000 A59,500




AR HYE3= SN MY ED
HE: SAX|S HY o N
el 8 XS WsEe s (SH9 H2)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
OOIFAIR 02l 29 BE
5,544,000, 000 5,544,000
OBIAIEE! 02 29 BE
650,000, 000! 650,000
OBSR 02N 29 BX
20,000,0002! 20,000
ORTY 0i5l% 02e 2 BX
144,500,002 144,500
& XS F0l 012H ST (RH) 750,000 1,106,442 355,442
308 THXIEHHISOI R 750,000 1,105,442 355,442
Of IXEHBA2E 750,000 1,105,442 355,442
EREIESNVEREREE 00
600,000, 000! 600,000
O& X9} F0I 024 22 BE(ZH)
150,000,002 160,000
& XY =0 oA 2XA(EX) 5,152,500 5,539,500 387,000
2 3,435,000
A 1,717,500
308 XX/ EHHISOI R 5, 152,500 5,539,500 387,000
2 3,435,000
Al 1,717,500
O KHXISHZ 2T 5. 152,500 5,539,500 387,000
O& Xlof 301 0244 29 BX
4,689,000, 000! 4,689,000
2 3,126,000
Al 1,563,000
O4 Xof =0l 7ty 2 2X
463,500, 00021 463,500
2 309,000
Al 164,500
S XS R0l MEBEAE a3l NAY 405,000 390,000 16,000
2 270,000
Al 135,000
308 XHXIEHHISOIH 405,000 390,000 16,000
2 270,000
Al 135,000
Of KX SHBAEES 406,000 390,000 16,000
O& XIof F0l MBE4E a2t X8
= 405,000, 00021 405,000
2 270,000
A 135,000
8 X% MR () S NBAY 1,318,500 0 1,318,500
2 879,000
Al 439,500
& XS MB22 2Y MY 1,318,500 0 1,318,500




A= HyED= SN AEE D
Hr: =470 Y o K
Ol A X MESB(HH) 22 XA (SHol: )
4224 B G9(SH) - AIRAY - BES of v e HIDE2
= 879,000
Al 439,500
308 XtXIEMSO0IH 1,318,500 0 1,318,500
= 879,000
Al 439,500
01 XN BSELES 1,318,500 0 1,318,500
Od Ng 2=/ 28 N2 A
1,318,500,000& 1,318,500
[ 879,000
Al 439,500
g9 g % A& 67,731,250 50,322,473 17,408,777
= 35,000
= 55,759,000
) 180,000
Al 11,757,250
S XS IHE A 38,842,875 38,050,000 792,875
[ 34,539,000
Al 4,303,875
ST FNLAMS (E8XH) 25,618,500 30,491,125 AN\4,872,625
[ 22,784,000
Al 2,834,500
403 X SHMSAH=01H 25,618,500 30,491,125 AN\4,872,625
s 22,784,000
Al 2,834,500
01 AXISHHA =2 & 25,618,500 30,491,125 N4,872,625
OSHAET SN AR (HX)
25,618,500,000& 25,618,500
= 22,784,000
Al 2,834,500
ST NLAMSE (BEXA) 13,224,375 7,558,875 5,665,500
[ 11,755,000
Al 1,469,375
403 TR SHMSAH=01H 13,224,375 7,558,875 5,605,500
= 11,755,000
Al 1,469,375
01 AXISHHA =2 £ 13,224,375 7,558,875 5,665,500
OSHaETAWL A (BB
13,224,375,000& 13,224,375
= 11,755,000
Al 1,469,375
g 2 833X9 X2 19,703,400 4,154,923 15,548,477
= 35,000
= 14,000,000
7l 180,000
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A= YD SN AEE D
A UsTo Y U KR
el 8 e & 839 N2 (SH9 H2)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
Al 5,488,400
8 238 Alg(ger2d) 10,900 9,380 1,520
201 fet=23y| 3,500 4,500 1,000
01 AtR2tc|HI 3,500 4,500 21,000
M um DI2NE 29 yoagy|
2,500,000& 2,500
Of 23 N29fs 2 49
1,000,000 1,000
202 04l 3,200 4,880 21,680
01 =LHNHI 3,200 4,880 1,680
Of Y8 TRME Y2 43
3,200,0002 3,200
203 Y2 =X H| 4,200 4,200
EESSEEESI 4,200 4,200
O8 2 2@l S| Y2=F
4,200,000 4,200
& 28 A 2X(3Y) 40,000 70,000 £30,000
308 XXM SOl 40,000 70,000 230,000
01 XN BSELES 40,000 70,000 30,000
O&9 < A HAIZ 2L
40,000,000 40,000
&8 28 A BE(XE2) 1,400,000 0 1,400,000
403 AXIEHMSAH=01d 1,400,000 1,400,000
01 HXIHHA 22X 1,400,000 1,400,000
OF2A T ALAE 500,000,000 500,000
OXNEr 2¥He d=2ustat &4
900,000,000 900,000
SEHRNZHE 29 360,000 432,000 A72,000
308 AHXIEMSOIE 360,000 432,000 AT72,000
18 SIS0t HASAIY 360,000 432,000 AT72,000
O8g 2L 28 360,000,000 360,000
g 0I==9 PG A2 75 2,635,000 1,958,400 676,600
[ 2,170,000
Al 465,000
403 AXIEHHSAH=201H 2,635,000 1,958,400 676,600
= 2,170,000
Al 465,000
01 AXISHHA=2E XL 2,635,000 1,958,400 676,600
Od 0==9 PG AlE 225
2,635,000,000& 2,635,000
= 2,170,000
Al 465,000
XA MEBI|BAIE(LPG) 7= 13,090,000 0 13,090,000
[ 10,780,000




A= YD SN AEE D
BH: UK Y L R
el 8 e & 839 N2 (SH9 H2)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
Al 2,310,000
403 MR HMSAHE01H 13,090,000 0 13,090,000
[ 10,780,000
Al 2,310,000
01 XA =22 E 13,090,000 0 13,090,000
XA HEI|BAIE(LPG) 7=
13,090,000,000& 13,090,000
= 10,780,000
Al 2,310,000
oW Eatel 2 T2 2 330,000 390,000 260,000
Jl 180,000
Al 150,000
308 AHAIEMSOIE 330,000 390,000 60,000
Jl 180,000
Al 150,000
01 X HHNBAEXS 330,000 390,000 260,000
Oz g3ate| 2 HIOt=d Z2 08 =Y
270,000,000 270,000
7l 180,000
Al 90,000
Oz &ate 2 & Z218 29
60,000,000& 60,000
NLL BotdEl o Sdi2 =4 1,275,000 607,143 667,857
[ 1,050,000
Al 225,000
403 AXIEHHSAH=201H 1,275,000 607,143 667,857
[ 1,050,000
Al 225,000
01 AXISHHA=2EE 1,275,000 607,143 667,857
ONLL Zotdt] o =di2 &4
1,275,000,000& 1,275,000
= 1,050,000
Al 225,000
== 0lsatd dalat 500,000 585,000 85,000
403 AXIEHMSA=Z0l1d 500,000 585,000 /85,000
01 MXIHHA 22 500,000 585,000 /85,000
Otf==2% 0|23 d&3t A (AIEEHI)
500,000,000 500,000
M2 0l2EZ SXSHEEXZAL XIH) 30,000 28,000 2,000
= 20,000
Al 10,000
308 XXM SOIA 30,000 28,000 2,000
= 20,000
Al 10,000




SHuaa= SN YR
Lz TIof T 2 X
8 g € 39 X CHe M)
LR BB S(B) - NRAY - BAS 0 &y e HIRS2
01 AIXSHNBAEES 30,000 28,000 2,000
Osi+2% ogary o 2 XA
30,000,000 30,000
= 20,000
Al 10,000
== 243 N (LAls 32,500 0 32,500
= 15,000
Al 17,500
308 AXISHHSOIA 32,500 0 32,500
= 15,000
Al 17,500
01 AIXISHNBAEES 32,500 0 32,500
Odl+==Z 43 K&
32,500,000 32,500
= 15,000
Al 17,500
MNoll 5= S XA (S0 9,184,975 8,117,550 1,067,425
= 7,220,000
Al 1,964,975
Moll 5= YA XJ(BX) 9,180,875 8,117,550 1,063,325
g 7,220,000
Al 1,960,875
308 KX SHMSOIN 9,180,875 8,117,550 1,063,325
g 7,220,000
Al 1,960,875
01 AXISHNEAERZ 9,180,875 8,117,550 1,063,325
OAMdll b S&ted X EIPSESNECD)
80,875,000& 9,180,875
Fay 7,220,000
Al 1,960,875
MNoll 5= S X (XHA) 4,100 0 4,100
202 04t 2,100 2,100
01 ZLHOHI 2,100 2,100
OAMdll 5= AHF=024H (©:15]]
2,100,000& 2,100
203 R =&IH| 2,000 2,000
03 AMIBFAHRZ=XIH| 2,000 2,000
OAMll 5 HAF0HZHMH S Hl
2,000,000& 2,000
MUY= WAZAl HE 46,700 155,600 108,900
ol HE 41,200 31,800 9,400
=g olEgi =2 HE X 41,200 31,800 9,400
202 044 1,200 1,800 A600
01 ZLHOHI 1,200 1,800 600
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oF & B3 A EERE)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
403 REXIHMS K201 600,000 0 600,000
s 600,000
01 XEXISHH A= 600,000 0 600,000
OAMdlel geet, 10993 Xtg S22 2&2 =5
QK| BHH T 600,000,000 600,000
rag 600,000
o 22 2ASH AFY 100,000 65,000 35,000
& 2 A Y =4 100,000 65,000 35,000
308 AXISHHSOIA 100,000 65,000 35,000
01 AIXISHNBAEERZ 100,000 0 100,000
OFE=4d 323 100,000,000 100,000
o 22 =22 - 0HHE 809,026 775,000 34,026
CH 270,000
Al 539,026
o 22 =8 s g24=2 2 AMAHS 331,800 625,000 A293,200
201 Let2AH| 30,000 2,500 27,500
01 AtR22teld| 30,000 2,500 27,500
Oogs - 0ICI g2 &8 22 2IXE M
30,000,000 30,000
202 04t 1,800 2,500 AT700
01 ZLHOdHI 1,800 2,500 AT00
O g 24351 Arg od]
1,800,000& 1,800
308 AXISHHMSOIH 300,000 620,000 320,000
13 2| 2SHICHSHE & X2 E ALY 300,000 620,000 320,000
Oogs - 00N &8 o - ol 22 2XE H
i 300,000,000 300,000
oI & L8 = 477,226 150,000 327,226
CH 270,000
Al 207,226
207 AR 477,226 0 477,226
CH 270,000
Al 207,226
02 MAHEHH| 477,226 0 477,226
OQd & L8 A= 477,226,000 477,226
CH 270,000
Al 207,226
HY2HZH| 61,225 38,697 22,528
S22H| (Aol LAz} 61,225 38,697 22,528
SN ear=lsl| 61,225 38,697 22,528
201 LEt2HH| 33,920 19,329 14,591
01 A2l 33,920 19,329 14,591
Odet=gH| 33,920,000 33,920
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A= sysE= =N BB
Zal: DAY FH L N
SH9l: BE o SBAY BAS KA (o) @)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS
SRR ES R
800,000, 0002! 800,000
OSASZIS ¥ L 0HIE X
160,000,000 160,000
OK-UMM Confex 200,000, 000! 200,000
Bae RN 25 2,440,000 3,757,000 1,317,000
308 XHAISHAISOIH 2,440,000 2,757,000 £317,000
13 2012 SOIHE A = RIS A 2,440,000 2,757,000 £317,000
OBHDIIY 22 L YEYT N
40,000,0002! 40,000
OSBAT 22|z HLAY
800,000,002 800,000
OFBAY AMTIRIE DEHH 75
800,000,002 800,000
O8ZIIY AS=S X2
300,000, 0002 300,000
OgzMY ALY L 0PI XY
500,000,002 500,000
SFENY NBHH 75 1,000,000 0 1,000,000
307 2I2¢0IH 1,000,000 1,000,000
EIEIEPOVSTEES 1,000,000 1,000,000
OUINSFDSHE TH(IIHTAI)
1,000,000, 000! 1,000,000
CE Y B3 669,000 1,219,928 550,928
202 01t 4,000 4,928 £928
ETET 4,000 4,928 £928
O8TAY B4 =X 4,000,002 4,000
306 £013 565,000 565,000
EEE] 565,000 565,000
OS2 ABCA 75 565,000, 000! 565,000
308 XHXISHHISOIH 100,000 650,000 550,000
13 212 SOIHB A RIS A 100,000 650,000 550,000
OS2 AEEI N 100,000,002 00,000
ADIE(SE 28) HIBB2ANAY 25 2,100,000 1,400,000 700,000
2 1,470,000
Al 630,000
403 XHXI EHAI S RH20I & 2,100,000 1,400,000 700,000
2 1,470,000
Al 630,000
01 XHXISHHIRI =2 = 2,100,000 1,400,000 700,000
OADIE(SE 28) HYBAR2AALY
5 2, 100,000,002 2,100,000
2 1,470,000
Al 630,000
W Ta AEX L HEEX N 508,801 0 503,801
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%522 N gereion:
WA HIELTA e
AHotset dotetd 28 CHe &2l
SA - BB - SRI(B) - HIRAY - BAS of v e HIDE2
01 At22telt] 3,500 3,500 0
Odet d ofetzzt ARz Izl ¥ 24
S 3,500,000& 3,500
202 04l 800 800
01 =LHNHI 800 800
oot & offefE2t 2SN SH0I
800,000 800
QHEHIALY 584,600 1,223,243 638,643
[ 518,000
Al 66,600
403 THXI M SAH=01 ™ 584,600 1,223,243 638,643
= 518,000
Al 66,600
01 AXISHHA=2 2L 584,600 1,223,243 638,643
OA0I& oA+ HFEHIAIY SAH
584,600,000 584,600
= 518,000
Al 66,600
&2 - HOHOHIE Ol XI& 25,504,000 26,043,128 A449,128
= - S7Ma ng 25,564,000 25,564,000 0
401 AIEHIZ SR OHYI 25,564,000 25,564,000 0
01 Al&HI 25,564,000 25,564,000 0
O= - SRM n 25,564,000,000& 25,564,000
a7d 018 S| e =2 30,000 60,000 230,000
201 er23| 30,000 60,000 230,000
01 At2teltl 30,000 60,000 30,000
OAmd 0|8 SI| U ===
30,000,000& 30,000
dolofeteiz gdst 250,000 250,000
elofetstd 2hdalE gt AIXIIEHE +HEstE2t 250,000 0 250,000
A
401 AIEHIZ SR THYI 250,000 250,000
01 AlZ8| 250,000 250,000
OxH 23582t SHE HESAL
250,000,000 250,000
Y2 ZH| 29,780 24,920 4,860
Jl=2ZHI(geteiort) 29,780 24,920 4,860
k=1l 29,780 24,920 4,860
201 fer= 3| 17,590 14,700 2,890
01 At 2|l 17,590 14,700 2,890
ORAMEg+SH 11,062,000& 11,062
OJl=gf=d S| 6.,528,000& 6,528
202 04l 8,640 7,220 1,420
01 2LHoIH 8,640 7,220 1,420
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= S = S e okt
Za: smeA)
CHel: D12 (&ereiornt) (S &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HnsZ
O=LHxHI 8,640,000& 8,640
203 R=EH| 3,550 3,000 550
M4 FA2ILRFAL 3,550 3,000 550
ORAN2ZHRFLH 3,550,000& 3,550
PSS (&erH o) 300,000 7,339,872 A7,039,872
LS HeH XI= 300,000 7,339,872 A7,039,872
JIEtSIHEES 300,000 7,339,872 A7,039,872
701 DBt HISEES 300,000 7,339,872 A7,039,872
01 JIEtSIHEES 300,000 7,339,872 A7,039,872
OB EdSEeH dE=
300,000,000 300,000
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H & 0l & AHS B Ml A

sHererm= SN HYEE D
ZE 0IF YHIC X4
QI 2FBICE MAeD] +=2H EER=E)
R B GR(3) - HRAY - B il &k e HlmS2
Zut 13,844,554 18,867,559 A5,023,005
= 4,170,500
s 567,000
| 271,000
Al 8,836,054
oI 2HICH =4 9,984,719 14,114,404 A4,129,685
= 2,525,500
s 567,000
| 271,000
Al 6,621,219
& HICH MAeD] =A 9,220,810 12,619,640 23,398,830
= 2,019,500
s 567,000
| 271,000
Al 6,363,310
oIF 2rHICH MDA 34,310 34,310 0
308 AXIHMISOI & 34,310 34,310
7 RXSHHH R E S 34,310 34,310
Ost2M Dl MelAtg 28
34,310,000 34,310
FESH? AelD] HSTAI (AR SHMBAER) 7,200,000 7,342,000 A142,000
= 1,872,000
Al 5,328,000
308 REXIHMSOIH 7,200,000 7,342,000 A142,000
= 1,872,000
Al 5,328,000
01 IXSHHEBAEES 7,200,000 7,342,000 A142,000
OdtEst Mg D] ZetArS
7,200,000,000& 7,200,000
= 1,872,000
Al 5,328,000
FEGH? AeD| HStAr (B gtd) 619,500 615,000 4,500
= 147,500
Al 472,000
201 Ler2| 378,500 448,000 269,500
= 90,120
Al 288,380
01 At 22|l 33,070 35,180 22,110
Og - =8| 27,240,000 27,240
= 6,486
Al 20,754
O1ul=t| 2,590,000& 2,590
= 617




2= oledes= A ocoofreErd
M ZE oId it =4
Chel: oI HICH M| = EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
Al 1,973
O=gHl 3,240,000 3,240
= 772
Al 2,468
2 352484l 345,430 412,820 AB7,390
O332= € HMAl 85,430,000 85,430
= 20,340
Al 65,090
OXtg - &EH 260,000,000 260,000
= 61,905
Al 198,095
206 MH=HI 2,000 2,000 0
= 476
Al 1,524
01 THZHI 2,000 2,000 0
Odf M0 =HE Otth
2,000,000& 2,000
= 476
Al 1,524
401 AlEHIYL S THYI 239,000 165,000 74,000
= 56,904
Al 182,09
01 Al&ZHI 239,000 165,000 74,000
Odfigratd datd dI| +=cl
224,000,000 224,000
= 53,333
Al 170,667
Ooi Mg =3 - el EY
15,000,000& 15,000
= 3,571
Al 11,429
= = LMY D] =0HAMY 100,000 150,000 250,000
308 XXM SOIA 100,000 150,000 A50,000
01 AXEN B2 LS 100,000 150,000 50,000
OXY = UMYT| ==0HA
100,000,000 100,000
oHM D] HEtArY 850,500 945,000 £94,500
= 567,000
Al 283,500
308 AtAIEHMSOIE 850,500 945,000 £A94,500
z 567,000
Al 283,500
01 RSN EES 850,500 945,000 294,500
Odi M0 HStALY 850,500,000 850,500
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FCH 2101 = EER=E)
CHE . O () - ARAY - BAS A TmET
rag 567,000
Al 283,500
HOI2 e At 406,500 406,500
J| 271,000
Al 135,500
SHXS0IH 406,500 406,500
J| 271,000
Al 135,500
SHIEAEX 406,500 406,500
oGO HID|=
406,500,000 406,500
J| 271,000
Al 135,500
ol Y 488 22 210 W 10,000 10,000
Bt AH| 2,500 2,500
ArR22| | 2,500 2,500
oI st 20 WAl
2,500,000& 2,500
405 RHaHE =H| 7,500 7,500
01 AL 2EF=H 7,500 7,500
USHE Y SN 22 =20 0
7,500,000& 7,500
2H 22 763,909 1,494,764 730,855
= 506,000
Al 257,909
2R AL|(FAEX 7,286 152,999 A145,713
= 6,000
Al 1,286
XHHMSOIH 7,286 152,999 AN145,713
= 6,000
Al 1,286
SHHIAEERZ 7,286 152,999 A 145,713
UHES A 22| ALS 7,286,000& 7,286
= 6,000
Al 1,286
= M & 607,143 607,143 0
= 500,000
Al 107,143
S SOIH 607,143 607,143 0
= 500,000
Al 107,143
01 AXISHMBAEE 607,143 607,143 0
Osoll oMz
607,143,000& 607,143
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2= oledes= A oHeEE
M ZE oIF it =4
G GHYMERH 22X el EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
= 500,000
Al 107,143
ofefety 28 82 & 25 K& 67,480 107,480 240,000
201 er2 3| 15,790 15,790 0
01 AtR2tel] 10,790 10,790 0
Ogit==H| 4,790,000 4,790
OsNZ2dRAYs 28 & 6,000,000 6,000
03 A2 I 5,000 5,000 0
Ottty 28 &AL 29
5,000,000 5,000
202 Ot 8,090 8,090
01 =LHoi 8,090 8,090
Odfi et 28 P28 0|
8,090,000& 8,090
203 BR=&H] 3,600 3,600
03 A= AR =] 3,600 3,600
Oofigetd 28 PRFE]
3,600,000 3,600
307 2Ito1d 40,000 80,000 240,000
02 LB HAHE L 20,000 40,000 £20,000
Ol A0 AIZEH S ALY
20,000,000 20,000
12 QIZFQIRIE W= H| 20,000 40,000 A20,000
Odfigatd s 2 Mg X
20,000,000 20,000
2SSy cfeds 2el 20,000 20,000 0
307 2Ito1d 20,000 20,000
02 2B HAHE L 20,000 20,000
OFE0ISY 25 L AASEIAIY
20,000,000 20,000
sA2d 62,000 62,000
207 o0 62,000 62,000
01 1= 62,000 62,000
O ZAA SAEHLMENE =8 HIAS
A 62,000,000& 62,000
oHEty elmegt 2= 3,831,565 4,724,834 833,319
= 1,645,000
Al 2,186,565
=238 2el=2g 1,514,065 1,627,384 A113,319
= 100,000
Al 1,414,065
=IHI23% 2cl2g 258,707 1,057,384 NT98,677
201 ger=3| 83,824 81,184 2,640
01 AtR2t2l] 56,170 50,000 6,170




HE B SN : hLEH
ofetd eluet A
=IHESE 2229 (SH &)
L BRI (31) - HIRAIY - BHAS ol b e HlmS2
OfUIAZR HIAHKXIZ EWIONES I
3 56,170,000& 56,170
5,904 5,184 720
5,904,000 5,904
21,750 26,000 A4,250
A 24
20,000,000& 20,000
1,750,000& 1,750
14,157 14,200 A43
14,157 14,200 A43
14,157,000 14,157
21,126 22,000 A874
21,126 22,000 AB74
b &ld] Xl
9,720,000& 9,720
1,776,000& 1,776
9,630,000 9,630
39,600 40,000 A400
36,000 36,000 0
36,000,000 36,000
3,600 4,000 A400
3,600,000& 3,600
100,000 200,000 A100,000
100,000 200,000 100,000
HAIS
100,000,000& 100,000
375,358 350,000 25,358
= 100,000
Al 275,358
375,358 350,000 25,358
= 100,000
Al 275,358
375,358 350,000 25,358
375,358,000 375,358
= 100,000
Al 275,358
880,000 220,000 660,000
880,000 220,000 660,000
880,000 220,000 660,000
880,000,000& 880,000
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A= GLEB=2 SA  ofeEAn
M ofestd oDt =
S MEf2EIIR 0|8t 2= (crel =2l
A 2A - B . HA(SH) - MIRAIY - BES (1;| Palgely glg% Hlns
MEJRHZAIS 0|8t = 2,317,500 2,797,500 480,000
=2 1,545,000
Al 772,500
MEFZZXS XE 2 |4 67,500 67,500 0
= 45,000
Al 22,500
308 XXM SOIA 67,500 67,500 0
= 45,000
Al 22,500
01 MXSHHBAEXRS 67,500 67,500 0
OME2ZXY N & |4
67,500,000 67,500
= 45,000
Al 22,500
MENZZHEAE =4 2,250,000 2,730,000 480,000
= 1,500,000
Al 750,000
403 XSS K=01™ 2,250,000 2,730,000 480,000
= 1,500,000
Al 750,000
01 RMXISHHIX2E X 2,250,000 2,730,000 480,000
OMEI2ZHEAE =4
2,250,000,000& 2,250,000
= 1,500,000
Al 750,000
Y 2HAH| (o) 28,270 28,271 A1
Jl=Ad|(sieZ ) 28,270 28,271 A
22| 28,270 28,271 N
201 LEt29Y| 14,830 14,831 A1
01 Al22t2|H] 14,830 14,831 N
OAl222ll 14,830,000 14,830
202 04| 9,840 9,840
01 2oL 9,840 9,840
O=U0dd] 9,840,000 9,840
203 YR =ZY| 3,600 3,600
M ENSYHRFAYI 3,600 3,600
ORNSY LAY 3,600,000 3,600
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H & 0l & AHS B Ml A

2= oldes= AL A
M oy 23t
el oy o=t 1= EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
Z=4Ht 41,380,127 49,330,116 AT7,949,989
= 1,297,572
z 15,060,575
Al 25,021,980
HABHS 235t 35,531,556 43,499,863 NT7,968,307
= 848,202
= 15,060,575
Al 19,622,779
g el=Zet 25 26,154,952 31,906,644 N5,751,692
s 15,060,575
Al 11,094,377
HESEY 300At (20228 & H) 16,201,401 11,903,094 4,298,307
= 13,342,042
Al 2,859,359
403 AXIEHMSAH=01d 16,201,401 11,903,094 4,298,307
z 13,342,042
Al 2,859,359
01 AXIEHHM A =2 £ 16,201,401 11,903,094 4,298,307
ONERE 300At (20228 & H)
16,201,401,000& 16,201,401
= 13,342,042
Al 2,859,359
HEASAZIIAI (2023 HH) 2,086,791 0 2,086,791
= 1,718,533
Al 368,258
403 MR HHMSAHE01H 2,086,791 0 2,086,791
z 1,718,533
Al 368,258
01 AXEMA2EE 2,086,791 0 2,086,791
ONEQ2HAZSIIALY (2023 & H)
2,086,791,000& 2,086,791
z 1,718,533
Al 368,258
XX Zel (X)) HEHd (HE-XI3) (HEA) 4,600,000 6,500,000 1,900,000
403 AXIEHHSAH=0lH 4,600,000 6,500,000 1,900,000
01 AXEMA2EE 4,600,000 6,500,000 1,900,000
OXgoie A4 (Me-R1g)
4,600,000,000& 4,600,000
SIS RTUAIE SX(HE-KIE)(HEAIY) 690,000 630,000 60,000
403 AXIEHHSAH=201H 690,000 630,000 60,000
01 AXIEHM A= E £ 690,000 630,000 60,000
O=&Is S RAIL(HE-XIH)
540,000,000 540,000
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2= oldes= AL A
M oy 23t
el oy o=t 1= EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
OAZE SDIs FLWAIE
150,000,000 150,000
og 2482 2,550,000 2,300,000 250,000
403 AXIEHMSA=01d 2,550,000 2,300,000 250,000
01 MXIHHA 22X 2,550,000 2,300,000 250,000
Ooog 2 - 22 2,060,000,000& 2,080,000
ONg |l - E= 440,000,000 440,000
OHSE FFHAMLAYE A
50,000,000 50,000
=AY AR A 26,760 26,800 40
201 fer23| 3,160 3,200 A0
01 AtR2t2l] 3,160 3,200 240
O==4t20F RS A=
3,160,000 3,160
203 HR=&H] 3,600 3,600
03 A=A 2= 3,600 3,600
O==4H20F SR =& 3,600,000 3,600
308 XXM SOIH 20,000 20,000
18 SIS0t 4 A AS A 20,000 20,000
ONEL2HASTA A 2 A2Z3tu=
20,000,000 20,000
S OHEALD ol 7,994,081 9,279,9%6 N 1,285,875
= 413,320
Al 7,580,761
& UXEZEH E2(=2012 - 2] - ZHIH 171,480 93,000 78,480
)
= 114,320
Al 57,160
403 AXIEHMSAH=0l 171,480 93,000 78,480
= 114,320
Al 57,160
01 AXISHHA 22 £ 171,480 93,000 78,480
Oz NUXZEZEH 2E2(=&2012 - &
bl - SHICiAI) 171,480,000 171,480
= 114,320
Al 57,160
&AL OIZAIAE 7= 69,000 59,100 9,900
= 46,000
Al 23,000
403 X SHMSAH=01H 69,000 59,100 9,900
= 46,000
Al 23,000
01 AXISHHA =2 & 69,000 59,100 9,900




A= fYEE= FA Akt
M (P 2t
SRl Ol QHEALL Ol EER=E)
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH ST Hnz=2
Smo AR e T == B Ofl &k ==
OUEAILD HEZAIAE A5
69,000,000 69,000
= 46,000
Al 23,000
200 Of &4 2+ & (KT KERIL) 52,000 52,000 0
= 26,000
Al 26,000
308 AXIHMSO0I& 52,000 52,000 0
= 26,000
Al 26,000
13 I 2SO E &R E AL 52,000 52,000 0
OAHZHH 2= (A H A EHZEAL)
52,000,000 52,000
= 26,000
Al 26,000
MEHLHAES 144,500 242,950 A9B,450
= 119,000
Al 25,500
308 AXIHMISO0I& 144,500 242,950 A98,450
= 119,000
Al 25,500
01 AXIEHZLAEES 144,500 242,950 A9B,450
Od=old o722 144,500,000 144,500
= 119,000
Al 25,500
HEEMEE X2 718,500 665,000 53,500
308 AXIHMSOIH 718,500 665,000 53,500
01 XN ELS 718,500 665,000 53,500
OH&ge! M2MEEE XA
550,000,000 550,000
ON&E(HA) Moll2AEEE X
150,000,000 150,000
OogolotdEaz X 18,500,000& 18,500
HEXNEH 2 766,625 579,230 187,39
201 Ler2 | 416,625 479,230 N62,605
01 At 2telt] 52,150 53,230 1,080
Og - =2 29,040
o UAY| 7,140,000 7,140
o=AlY| 21,900,000 21,900
O=gt| 21,760,000 21,760
Oul=t| 1,350
oRtoI= 900,000 900
o OtM S} 450,000 450
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A= YD SN e
33 o3y 29
SRl ol SHEAD ol EER=E)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
02 S5=g4l 364,475 426,000 N\61,525
O8&82= € HA 60,000,000 60,000
OXHe - det 304,475,000 304,475
401 Al HIZ S 0HYI 350,000 100,000 250,000
01 AlZ28| 360,000 100,000 250,000
ORI 2IH(Hd2UBA ¥ =& 2
BI) 350,000,000 360,000
HEXE gR=8 9,976 8,676 1,300
201 er2 3| 1,300 0 1,300
01 At2t2lt] 1,300 0 1,300
O IEs e 1,300,000& 1,300
202 04t 8,676 8,676
01 =LHOHI 8,676 8,676
O Ncts 2 HENY S0
g =g 8,676,000 8,676
AHH Q12D AX(ME-XIJ) (HEAY) 200,000 180,000 20,000
403 AXIEHHSA=201H 200,000 180,000 20,000
01 AXIEHM A= 2 £ 200,000 180,000 20,000
OAEUE )| EX(EAMTE)
200,000,000 200,000
HgE BA= X 800,000 1,000,000 A.200,000
308 AXIHSOIA 800,000 1,000,000 200,000
01 XN BSELS 800,000 1,000,000 200,000
ongE HA= X& 800,000,000& 800,000
Nz =28 N2 4,200,000 6,400,000 /2,200,000
308 XM SOIE 2,000,000 2,400,000 400,000
01 X HHNBAEXES 2,000,000 2,400,000 A400,000
OolgXcsd 2| XJ(2)
2,000,000,000& 2,000,000
403 X SHMSAH=01H 2,200,000 4,000,000 1,800,000
01 AR A =2 £ 2,200,000 4,000,000 1,800,000
ONgEXEd HHAX 2,000,000,000& 2,000,000
ONTH HHHAE &ASS K&
200,000,000 200,000
dlle! XA 100,000 0 100,000
403 AXIEHMSAH=201H 100,000 100,000
01 XIS A=E £ 100,000 100,000
OB I20! LXI(ZO0IL, 248 BHAI)
100,000,000 100,000
d3oHs =0 A He 600,000 600,000
403 AXIEHMSAH=0IH 600,000 600,000
01 A= 2L 600,000 600,000
OBZold 2g0oA e
600,000,000 600,000
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A= YD SN e
B iR Us)
SRl ol SHEAD ol EER=E)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
HRES2H 322l 162,000 0 162,000
= 108,000
Al 54,000
308 AHXISHHMSOIN 162,000 0 162,000
= 108,000
Al 54,000
01 AIXHMEANEEZ 162,000 0 162,000
OURBE2H a4zl
162,000,000& 162,000
= 108,000
Al 54,000
ol FHAIM F& 483,572 776,667 A293,095
= 334,882
Al 148,690
HEESNJLAH X 29 225,000 500,000 A275,000
= 112,500
Al 112,500
308 AXISHHMSOIH 225,000 500,000 A275,000
= 112,500
Al 112,500
13 SI| 2SI CHeZ A S EFAIS I 225,000 500,000 A275,000
OUESHNRHE XY 2%
225,000,000 225,000
= 112,500
Al 112,500
HENE0IE AIREHSKRA 108,572 126,667 18,095
= 72,382
Al 36,190
308 AHX|SHAMSOIH 108,572 126,667 A 18,09
= 72,382
Al 36,190
01 AIXHMEANELEZ 108,572 126,667 18,095
O EMEDIES MNRENEX A
108,572,000 108,572
= 72,382
Al 36,190
A D NESES 150,000 150,000 0
= 150,000
308 AXISHHSOIA 150,000 150,000 0
= 150,000
08 WEI|IZUCHSIE X 150,000 150,000 0
O=AtHDWEHES 150,000,000& 150,000
= 150,000
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A= fYEE= A e
PR P N e B Jol
Rl ARHE SA EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
QISUHEAIL(ME-XH)(MEAIY) 1,934,000 2,163,000 A229,000
308 RXIHMSOIH 290,000 325,000 235,000
13 I 2 S0IteHE & A AL LI 290,000 325,000 35,000
OO0l Zo|Z22l(He-XT)
290,000,000 290,000
401 AIEHIZ 2018 1,644,000 1,838,000 A194,000
01 AlEHI 1,640,000 1,834,000 A194,000
OLBHEAIE (ME-XE)
1,640,000,000& 1,640,000
03 AIE =2 CHHI 4,000 4,000 0
OQZO0IZAIE (BHE-XT)
4,000,000 4,000
SAB T (M=K (H ALY 1,800,000 1,800,000 0
308 KXIHMSOIH 1,800,000 1,800,000
01 AXSHELEES 1,800,000 1,800,000
O=AEX YL F(HE-RIR)
1,800,000,000& 1,800,000
SAEX USSR SHTAH(MS-2E)(MSAIY) 200,000 169,000 31,000
308 AXIHMSO0I& 200,000 169,000 31,000
13 I 2SI E & A PE A 200,000 169,000 31,000
O#=4E1} HYYE SHEAHEE-XE)
200,000,000& 200,000
e 2aldH(0la=2 S XId) 63,000 70,000 A7,000
= 63,000
403 XX SHHSKH=01A 63,000 70,000 A7,000
= 63,000
01 AR AH=2E £ 63,000 70,000 A7,000
Olgtd LAogsH (0142 US Xd)
63,000,000& 63,000
= 63,000
AT ZEE HUHXES 350,000 0 350,000
= 300,000
Al 50,000
403 XIS MS K201 350,000 0 350,000
= 300,000
Al 50,000
01 XISt AH22 £ 350,000 0 350,000
OLAE ZEE HUXNEZ(H=ZEolEET
) 350,000,000 350,000
= 300,000
Al 50,000
AT (F=R01) Argt - MAE =4 150,000 150,000 0
403 XX SHHSA=01H 150,000 150,000
01 AR AH=2E £ 150,000 150,000
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a3 LEgs= A At
M AR 2e)
Rl ARHE SA EER=E)
A - 24 - 38 - HA(3) - MM - BES Oi &F2H Oaﬂg% Hlunsz
O==4EXH (F=201) Akgt - HAIE =& (20t
A 150,000, 000& 150,000
HICts XSAMY 18,800 18,800
403 XX SAH=0lH 18,800 18,800
01 XIXISH K22 = 18,800 18,800
Obtlts =&AIS (ST ALY)
18,800,000& 18,800
=M S4X# 358,000 358,000 0
308 RXISHMSOIH 208,000 208,000
01 MXSHBLEES 208,000 208,000
OFEI &% X 168,000,000& 168,000
OS2 g4XelM X2 40,000,000& 40,000
403 AXIEHHSAH=0IH 150,000 150,000
01 XXISHHIAH2 2 = 150,000 150,000
O2AINE MAIXI(2S2D]) =4
150,000,000& 150,000
HEXYZ e KIA 250,000 150,000 100,000
403 XX SHHSKH=01A 250,000 150,000 100,000
01 XXt AH22 = 250,000 150,000 100,000
ONFTUZ e X 250,000,000& 250,000
HEHZ(RUHE) XA 60,000 45,000 15,000
308 REXIHMSOIH 60,000 45,000 15,000
01 AXIEHELAEXS 60,000 45,000 15,000
OHENE(RAHE) XA 60,000,000& 60,000
AT HREFA 3,133 3,133 0
202 Ot 3,133 3,133
01 =04 b| 3,133 3,133
OB LAANY S FRFX
3,133,000& 3,133
HOIH & SZ I 593,155 854,110 A260,955
= 86,370
Al 506,785
SANHE HHEE-XIR)(HEAIR) 435,000 540,000 105,000
308 REXISHMSOIH 435,000 540,000 A105,000
01 AXIEHELAEXS 435,000 540,000 105,000
OLAE Mt (HMe-XI)
435,000,000& 435,000
SoMS(%) 72Xl 74,100 74,100 0
= 57,000
Al 17,100
308 AXIHMSO0I& 74,100 74,100 0
= 57,000
Al 17,100
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2= oldes= SA ot
M AT 2l
Rl HoHOE B (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
01 XN B2 LS 74,100 74,100 0
OsafdE(s) 7Al 74,100,000 74,100
= 57,000
Al 17,100
EJtAt2l A 40,000 40,000 0
308 XXM SOIA 40,000 40,000
01 AXHHN B ELES 40,000 40,000
OSJtAtel +Hl 40,000,000& 40,000
IERE BE=X 44,055 0 44,055
= 29,370
Al 14,685
308 XXM SOIH 44,055 0 44,055
= 29,370
Al 14,685
01 XN BSELES 44,055 0 44,055
OoelssE E=Xd 44,055,000 44,055
= 29,370
Al 14,685
HE 23 68,483 68,010 473
QIARAH|(4=4F1) 23,493 23,014 479
el 24| 23,49 23,014 479
101 QI24H| 23,498 23,014 479
01 B2 23,493 23,014 479
OFg2R =E(N=dY) 23,493
o 86E 100,726 4«36 14,505
oMerg 90,9853 1 »362! 3,276
oie8g 81,6853 1 »36! 2,941
odeog 76,9603 x 12 »362 2,771
J123HI(a=4t1) 44,990 44,9% 2B
A 24| 44,990 44,9%6 JaY)
201 er23| 27,400 27,404 Jav'\
01 AtR2t2l] 27,400 27,404 Jav!
FAEg=S4l 17,990,000 17,990
OJl=gf=d S| 9,410,000 9,410
202 Ot 12,790 12,792 A2
01 =LHoi 12,790 12,792 A2
OJlzge=d 0| 12,790,000 12,790
203 HR=AH] 4,800 4,800
MU A2 LRFAI 4,800 4,800
ORMEZgR=at] 4,800,000 4,800




